
LKZ. Nr. 40923ART. 29314604

Reference no/Batch code:

1/10

Szerelési útmutató

Montážní návod

Montaj talimati

Montageanleitung

Notice de montage

Handleiding voor de montage

Assembly instructions

Istruzioni di montaggio

Instrukcja montażu

Návod na montáž

Instrucţiuni de asamblare

Инструкция по монтажу



A1

x4

Ø8x35

x6

M6x30

A2 A3

2/10

A4

x8

Ø5x50

A5 A6

A7 A8 A9

A

B

C

D

E

F

F

G

A10

x1/x1x1
3/4/5mm

A11 A12

x4

Ø17x3

100 20 30 40 50 60 70 80 90 100 110 120 130 140 150

x6 x6 x4

M4x15

x2

M4x20

x4

M6x10

x2

x4

Ø7x50

G

G

175x25x3 M4x10x5x8



3/10

Teil nr.

Pieces Nr.

Pièces Nr.

Stukken Nr.

Pezzi Nr.

Часть №

Anzahl

Quantity

Quantité

Hoeveelheid

Quantità

Количество

Kasten Nr.

Box No.

Boîte non

Doos Nr.

Scatola Num.

Коробка №

Maß, mm

Dimensions, mm

Dimensions, mm

Afmetingen, mm

Dimensioni, mm

Размеры, мм

A 1 1 1248   x    515    x    128

B 1 1 1210   x   224    x    16

C 1 1 96    x    96    x    128

D 1 1

E 1 1 600    x    600    x   20

F 2 1

G 3 1 1210    x    20    x    20

256    x    96    x   128

1211    x    498    x   20



4/10

1

A1 x2

A2 x2

A3 x2

A3 x2

A2 x2

A1 x2

C

D

A1 A2 A3

x4 x6 x4

M4x15

Illustrative!



A5

x4

Ø8x35

5/10

2

A5 x4

A1 x2

A2 x2

A4 x2

A1

A2

A4

3

B

A

A1 A2 A4x2 x2 x2
M4x20



A6

6/10

5

4

B

A

x4

Ø5x50

A6 x4

A6

A12

     x1

   3mm



7/10

6

A12

     x1

   5mm

A7 A8

x4

M6x10

x2

A7 x2 A8 x4

E

7

F  x2

A9

x4

Ø17x3

A9 x2



8/10

8

x6

M6x30

A10

     x1

   4mm

A12

F

F

G

G

G

A10 x3

A10 x3

A10



9/10

10

9

A11

A11 x4

     x1

   4mm

A11
A12

x4

Ø7x50

1.

2.





10/10

11

x1/x1

3/4mm

A12

x4

Ø5x50

A6

A6 x4

A6

12


	237889910_4226274427455231_2658895922950518337_n
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1
	Sheets and Views
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1-Leht 01
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1-Leht 02
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1-Leht 03
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1-Leht 04
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1-Leht 05
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1-Leht 06
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1-Leht 07
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1-Leht 08
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1-Leht 09
	Boldu Vanity Desk assemby instruction ART. 29314604 OTTO ver.1-Leht 010


	Blank Page



